Accel Pre-Calculus Name:
2.06 Graphing Sine and Cosine- Vertlcal Shift Notes

For y = asin[b(0 — ¢)] + d or y = acos[b(8 —c)] +d

Vertical Shift- amount graph moves up or down; ‘d” tells you the vertical shift; direction is
what you assume

Examples: Identify the transformations that occur on the parent function and graph the
function.

1y—sm(6——)+3 :
a={ Ps’ Lgﬁ_/_‘ti“'h
b= o d=3 vechiel sln‘H‘ uﬁg Mm‘fj

2.y =cos 39 + ) ~~1\M7—:-;“‘ f“‘lw 1&1' w&{‘é {{ (Am%‘_g ,
y=eos3(O+TY]-{ [b=3 > pel % s vodial sift oon (v
2.06 Worksheet: Graphing Sine and Cosine with Date:

Amplitude, Period, Phase Shift and Vertical Shift

Write the function described:. ST
1. A sine function with amphtude = 15 w1th a reflection, period = 4 7r,
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2. A cosine function h vmg an amp 'tude = period = E, phase shift leftg and vertical shift up 5.
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3. A cosine function that has been Vertrcally stretched by a factor of 4, has been reflected over

the x-axis, has been hor1zonta11y compressed to a period of =, and has been shifted right 7 |
units and down 3 units. Lf;
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4. Asine functlon that has been horizontally stretched to a period of 10 vertrcally compressed
by a factor of 7 shifted left 3 7 and up 1 unit.
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5. The wave graphed below. Itis both: asine 6. The wave graphed below. Itisboth: a sine

Z function and a cosine f171_nction, with differfznt function and a cosine function, with ‘ = —Zf—
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Giveny = asin[b(0 — ¢)] + d and y = acos[b(8 — ¢)] + d. For each function, state the
amplitude, period, interval, phase shift (PS), and vertical shift (VS). Sketch the graph and label

the axes.

7)y:—25ing+1 8) y =2cos (9+§)—3

Amp: a’ Per: Int. Amp: _ Per: Int:

PS: None vs: p ( PS; vs:
9)y=§sin(%+-§)+4 10) y = —cos (66 +m) — 1

Amp: Per: Int. Amp: Per: Int:

PS: VS: PS: Vs
11) y =3sin(20 + Z) + 05 12) y = —cos (26 +2) - 1.5
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